The Life of the Kitchen®

FARID
Ca\ T\l C)C

METB304 Cooktop

Page # Description
2 MET304 Chassis Assembly Cick Here
3 MET304 Control Box Assembly Click Here

Revised 05-02-2013

Dacor Technical Service 14425 Clark Avenue Industry, CA 91745 e Phone 800-353-2267 ¢ FAX 909-348-5601



MET304 Cooktop Chassis Assembly

Back to Front Page - Click Here

Item [ Description Part #
Black Panel Assy 12613
1* | Black/Gray Panel Assy 12621
Stainless Finish Panel Assy | 12619
2 |#8 x 3/8 Frame Truss Screw | 83024
3 | Display Board 72532
4 | Ribbon Cable 62063
5 |Heater, 1000/2400W 66134
6 |Heater, 1500W 66129
7 |Heater, 1200W 66128
8 [Heater, 1800W 66130
9 [Burner Spring 83381
10 |Insulation Blanket 26800
11 | Wiring Harness 72650
12 | Chassis Weldment 27821
13 | Control Box (see page 3)
14 | Hold Down Bracket 12045
15 [ Conduit 66798
16 | 1/4-20 x 3.50 Hex Head Bolt [83065
17 |Heat Shield Weldment 26646
18 |[1/4-20 x 3.50 Hex Head Bolt |83024
- | Cooktop Cleaning Creme A300
- Razor Scraper 82499
* Glass replacement may require that new

holes be drilled in the chassis.

; R

The Life of the Kitchen® Page 2
Dacor Technical Service 14425 Clark Avenue Industry, CA 91745  Phone 800-353-2267 ¢ FAX 909-348-5601




MET304 Cooktop Control Box Assembly

Back to Front Page - Click Here

Item | Description Part #
19 | Terminal Block Screws 83326
20 [ Terminal Block 62052
21 [ Nut, Keps #10-24 83009
22 |Power Board 72530
23 |[Cooling Fan 62077
24 | Fan Mounting Bracket 36459
25 |[Control Box Air Baffle 36488
26 | Control Box Weldment 27846
27 |Fan Screw 83022

; R

The Life of the Kitchen® Page 3
Dacor Technical Service 14425 Clark Avenue Industry, CA 91745  Phone 800-353-2267 ¢ FAX 909-348-5601




	Click Here: 


